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Sample Paper – 2011
Class – XII
 Subject – Computer Science (Theory)
Time Allowed: 3hours






Maximum Marks: 70

Note. 
(i)  All questions are compulsory. 

(ii) Programming Language: C+ +

Ques 1.
a) When a function is overloaded, there are multiple definitions of the functions. What makes the various definitions of the function different from each other? Support your answer with suitable example.

2

b) Write the names of header files to which the following belong.




1
i) strcmp( )  
ii) sin( )

c) Rewrite the following after removing the syntactical error(s) if any. Underline each correction.
2
#include “iostream.h”
class PLAY
{
int Charge=0;
PUBLIC:
void Raise( ) 
{cin>>Charge;}
void Show( )
{cout<<Charge;}
}
void main( )
{
PLAY P;
P.Raise( );
Show( );
}

d) Give the output of the following program segment:
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#include<iostream.h>

#include<conio.h>

#include<string.h>

#include<ctype.h>

void main()

{clrscr();

char *S="GOOdLuCk";

int L=strlen(S);

for(int C=0;C<L;C++)

if(islower(S[C]))

S[C]=toupper(S[C]);

else if(C%2==0)

S[C]='E';

else if(isupper(S[C]))

S[C]=tolower(S[C]);

cout<<"New Message : "<<S<<"\n";

getch();}
e) Give the output of the following program:






3
void main( )

{
struct point
{
int x,y;
}polygon[ ]={ {1,3},{4,1},{3,2},{5,5}};
point *a;
a=polygon;
a+ +;
a->x+ +;
cout<<polygon->x<<endl;
}

f) In the following program, if the value of N given by user is 15, what maximum and minimum values the program could possible display?
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#inlucde<iostream.h>
#inlcude<stdlib.h>
{
int N,Guessme;
randomize( );
cin>>N;
Guessme=random(N)+10;
cout<<Guessme<<endl;
}

Ques 2.
a) When the object is passed to the function, the copy of the object is made. Does constructor and destructor is called for the object copy? Also explain the meaning of the two.
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b) Answer the question (i) and (ii) after going through the following class
:


2
class Exam
{
int year;
public:
Exam(int y )
// Constructor 1



{ year=y);}
Exam(Exam &t) //  Constructor 2
};
i) Create an object, such that it invokes Constructor 1.
ii)  Write complete definition for Constructor 2.
c) Define a class Test in C+ + with following description:





4
Private Members
i) TestCode of type integer
ii) Description of type string
iii) NoCandidate of type integer
iv) CenterReqd (number of centers required) of type integer
v) A member function  CALCNTR( ) to calculate and return the number of centers as (NoCandidate/100+1)
Public Members
i) A function SCHEDULE( ) to allow user to enter values for TestCode, Description, NoCandidate & call function CALCNTR( ) to calculate the number of centres.
ii) A function DISPTEST ( ) to allow user to view the content of all the data members.
 
d) Consider the following declaration and answer the question given below:
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e) class Animal
{
int leg;
protected:
int tail;
public:
void input(int);
void OUT( );
};
class wild: private Animal
{ 
int Non_Veg;
protected:
int teeth;
public:
void INDATA(int, int);
void OUTDATA( );
};

class pet: public Animal
{
int veg;
public:
void DISP(void);};
i) Name the base class and derived class of the class wild.
ii) Name the data member(s) that can be accessed from function DISP ( ).
iii) Name the member function(s), which can be accessed from the object of class pet.
iv) Is the member function OUT ( ) accessible by the objects of class wild. State reason. 
Ques. 3

a) The following array of integers is to be arranged in ascending order using the bubble sort technique:   
2
26
21
20
23
29
17
Give the contents of array at the end of each iteration. Do not write the algorithm.

b) An array A[10][20] is stored in the memory along the column, with each of the element occupying 2 bytes, find out the memory location for element A[2][5], if an element A[5][10] is stored at the memory location 3020.     3      





   
 
c) Each node of a STACK contains the following information, in addition to pointer field:
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i) Pin Code of the City
ii) Name of the City
Give the structure of node for linked STACK in question. TOP is a pointer that points to the topmost node of the STACK:
i) PUSH( )- To push a node into the STACK, which is allocated dynamically.
ii) POP ( ) - To remove a node from the STACK and release the memory.

d) Evaluate the following postfix notation of expression:






2
20, 30, +, 50, 40, -,*

e) Write a function in C+ + to find sum of rows from a two dimensional array.



3
Ques 4.

a) Observe the program segment given below carefully, and answer the question that follows:

1
class PracFile
{
int Pracno;
char PracName[20];
int TimeTaken;
int Marks;
public:
void EnterPrac( ); 
void ShowPrac( ); // function to display PracFile details
int RTime( ) // function to return TimeTaken
{ return TimeTaken; }
void Assignmarks(int M) // function to assign Marks
{Marks=M }
};
void AllocateMarks ( )
{
fstream File;
File.open(“Marks.Dat”,ios::binary | ios::in | ios::out) ;
PracFile P;
int Record=0;
while(File.read((char*)&P,sizeof(P)))
{
if(P.Rtime( )>50)
P.Assignmarks(0);
else
P.Assognmarks(10)
------------------------ // statement 1
------------------------ // statement 2
Record + +;
}
File.close( );}

If the function AllocateMarks( ) is supposed to allocate mark for the records in the file Marks.Dat based on their value of the member TimeTaken. Write C+ + statements for the statement 1 and statement 2, where, statement 1 is required to position the file write pointer to an appropriate place in the file and statement 2 is to perform the write operation with the modified record.

b) Assume that a text file named TEXT1.TXT already contains some text written into it, write a function named vowelwords( ), that reads the file TEXT1.TXT and create a new file named TEXT2.TXT, which shall contain only those words from the file TEXT1.TXT which don’t start with an uppercase vowel(i.e ‘A’,’E’,’I’,’O’,’U’). 
For example if the file TEXT1.TXT contains 
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Carry Umbrella and Overcoat When it Rains
then the file TEXT2.TXT shall contains
Carry When it Rains

c) Given a binary file APPLY.DAT, containing records of the following class Applicant type

3
class Applicant
{
char A_Rno[10];
char A_Name[30];
int A_Score;
public:
void Enrol( )
{
gets(A_Rno);
gets(A_Name);
cin>>A_Score;
}
void Status( )
{
cout<<setw(20)<<A_Rno;
cout<<setw(20)<<A_Name;
cout<<setw(10)<<A_Score<<endl;
}
int ReturnScore( )
{ return A_Score;}
};
Write a function in C++, that would read contents of file APPLY.DAT and display Students whose A_Score is below 70.

Ques 5.

a) What is primary key and candidate key?
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b) Write SQL command for (a) to (d) and write the outputs for (e) on the basis of table


6
                                                            Table : CLUB
	COACH-ID
	COACHNAME
	AGE
	SPORTS
	DATOFAPP
	PAY
	SEX

	1
	KUKREJA
	35
	KARATE
	27/03/1996
	1000
	M

	2
	RAVINA
	34
	KARATE
	20/01/1998
	1200
	F

	3
	KARAN
	34
	SQUASH
	19/02/1998
	2000
	M

	4
	TARUN
	33
	BASKETBALL
	01/01/1998
	1500
	M

	5
	ZUBIN
	36
	SWIMMING
	12/01/1998
	750
	M

	6
	KETAKI
	36
	SWIMMING
	24/2/1998
	800
	F

	7
	AMKITA
	39
	SQUASH
	20/02/1998
	2200
	F

	8
	ZAREEN
	37
	KARATE
	22/02/1998
	1100
	F

	9
	KUSH
	41
	SWIMMING
	13/01/1998
	900
	M

	10
	SHAILYA
	37
	BASKETBALL
	19/02/1998
	3700
	M



a) To show all information about the swimming coaches in the club.
b) To list names of all coaches with their data of appointment (DATOFAPP) in descending order.
c) To display a report, showing coach name, pay, age and bonus (15% of pay) for all coaches.
d) To insert a new record in the CLUB table with the following data:
  
11,”Rajender”,25,”Football”,{27/05/2004},4500,”M”
e) give the output of the following SQL statements:
  
i) Select count(distinct SPORTS) from CLUB;
  
ii) Select min(AGE) from CLUB where SEX=’F’;
   
iii) Select AVG(PAY) from CLUB where SPORTS=’KARATE’;
   
iv) Select SUM(PAY) from CLUB where DATOFAPP>{31/01/98};

Ques 6.

a) State and verify Demorgan's Laws algebraically.
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b) Convert the following Boolean expression into its equivalent Canonical Sum of Product Form (SOP).
1

(X’+Y+Z’).(X’+Y+Z).(X’+Y’+Z).(X’+Y’+Z’)

c) Write the equivalent expression for the following Logical Circuit:




2
d) 







 


e) Reduce the following Boolean expression using K-Map:
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F(P,Q,R,S)=∏ (0,3,5,6,7,11,12,15)

Ques 7

a) Write two application of Cyber Law.
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b) Write the following abbreviations in their full form:





1
FTP, WWW

c) Name the device used to connect a computer to an analog telephone line.



1

d) Mention any two advantages of Open Source Software over Proprietary Software.


1

	Wing A to Wing M
	100m

	Wing A to Wing R
	200m

	Wing A to Wing P
	400m

	Wing M to Wing R
	300m

	Wing M to Wing P
	100m

	Wing R to Wing P
	450m


e) ABC SWITCHGEARS LTD. In Srinagar is setting up the network between its different departments located in different wings. There are 4 wings named as Manufacturing(M), Research(R), Administration (A) and Personnel (P).
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Distance between various wings are given below: 


.

	Wing M
	15

	Wing R
	100

	Wing A
	50

	Wing P
	150


Number of computers 





                                                                                                                                                                                                                              

i) Suggest a suitable topology for networking the computers of all wings.
ii) Name the wing where the server is to be installed. Justify your answer.
iii) Suggest the placement of Hub/Switch in the network.
iv) Mention the economic technology to provide accessibility to all wings.
f) What do you mean by Firewall?


Prepared by:

Name
sunil

Email
mr_parmarsunil@yahoo.com
Phone No.
9812100604







2

F





C





B





A











www.cbseguess.com
Other Educational Portals

www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com | www.niosguess.com | www.iitguess.com

